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Question 1 1 / 1 pts

A patient with symptomatic Aortic Stenosis (AS) requires surgery due to 

severe symptoms. The patient has several comorbidities and is deemed 

to have prohibitive surgical risks. Despite this risk stratification and due to

the severity of the symptoms this patient may be a candidate for the 

following intervention:

Aortic Valve Replacement (AVR)

Coorrrectct!
Transcatheter Aortic Valve Replacement (TAVR)

Either an AVR or TAVR

This patient is not a surgical candidate


